202552 A 1B LAEHRSH S &Y
< EFAHARS > BEHA - 2025/02/01~2025/02/28. E—%4 11 :2025/03/01~2025/03/29 <BERE>L{E
KOSRAIDHENENRR-FLIINFET,

XI7—ARISRIE—EHDOBRIR - FEICOHAFZESNATVET,
SOEE OISR REEREERARICOAENRREERERHEHLZTET,

JALH—RRAA Ak

JALA—RRAA A

JALA—RRAAA A

E—PN
R AR #a® | BHBO BERH e e S —TYY
BHRO | BRO | BKEQ® | &8#H |E—v#H | &% | E—o# | E¥EH | -
RIR=FL1R JAL 4,950 4,950 15,620 18,700 24,420 27,500
RRE=44E JAL 4,950 4,950 9,460 14,190
RERE=-KMR JAL 4,950 4,950 11,440 12,430 20,240 21,230
RE=1af JAL 4,950 4,950 17,600 20,790 26,400 29,590
HR=h#E (A2 JAL 4,950 4,950 21,890 24,970 31,790 34,870
RIE=&im 5 JAL 4,950 4,950 20,790 23,870
RRE=MENI JAL 4,950 4,950 17,600 20,790
RR=1IE JAL 4,950 4,950 17,600 20,790
RE=-H5 JAL 4,950 4,950 17,600 20,790
RR-EEE JAL 4,950 4,950 15,620 18,700
RR-BFH JAL 4,950 4,950 14,300 17,600
HR==R JAL 4,950 4,950 14,300 17,600
HE=1t%& JAL
RE=l&E JAL
RE-TH JAL 4,950 4,950 13,420 16,500
BmR=ILRE JAL 4,950 4,950 9,900 12,760
RE-#R JAL
BIR=MR JAL 4,950 4,950 10,340 13,420
RE-F{HE JAL 4,950 4,950 14,300 17,600
RE-HE JAL 4,950 4,950 13,420 16,610
BR=RE WL JAL 4,950 4,950 13,420 16,500
RR-IL5 JAL 4,950 4,950 13,420 16,500 22,220 25,300
RE=ILAFH JAL 4,950 4,950 15,620 18,700
RR-ES JAL 4,950 4,950 13,420 16,500
HR-Eh JAL 4,950 4,950 13,420 16,500
RE=fL JAL 4,950 4,950 15,620 18,700
HE-E4 JAL 4,950 4,950 15,620 18,700
RR=dL M JAL 4,950 4,950 17,600 20,790
RE-RIA JAL 4,950 4,950 17,600 20,790
RRE=RER JAL 4,950 4,950 17,600 20,790
RE=X% JAL 4,950 4,950 17,600 20,790
RE-EI& JAL 4,950 4,950 17,600 20,790
RR-ER JAL 4,950 4,950 17,600 20,790 26,400 29,590
RR-BEXS JAL 4,950 4,950 20,900 24,200
RR-F1E JAL 4,950 4,950 21,890 24,970 31,790 34,870
RR=-EH JAL 4,950 4,950 21,890 24,970
RE-AKE JAL
FLIR=FI R JAL 4,950 4,950
FLiR=%c 5w Al JAL 4,950 4,950 8,800 9,900
FLIR=1R = P iRiE JAL 4,950 4,950
FLIE=H2% JAL 4,950 4,950 6,600 7,700
ALIR=EKE JAL 4,950 4,950 6,600 7,700
FLIR=ER JAL 4,950 4,950
HiIR-F & JAL 4,950 4,950 10,120 13,310
FLgE==iR JAL 4,950 4,950 8,800 9,900
FLIg=1e& JAL 4,950 4,950 12,210 15,400




FLIR=lE JAL 4,950 4,950 12,210 15,510
FLIR=FkE JAL 4,950 4,950 8,800 9,900
L= JAL 4,950 4,950 13,310 16,500
AIR=HE JAL
HIR=-E5 JAL 4,950 4,950 20,790 23,870
LIR-ES JAL
2 E=HLIR JAL 4,950 4,950 17,600 20,790
ZHE=E () JTA 4,950 4,950 18,700 21,890
2 HE=HI8 JAL
2HE=-FIA JAL
Z2HE-RE JTA 4,950 4,950 21,890 24,970
Z2HE-EH JTA 4,950 4,950 21,890 24,970
KBr=#L1% JAL 4,950 4,950 20,790 23,870
KiR=42H JAL 4,950 4,950 10,120 11,220
K=& (AR ER) JAL/JTA 4,950 4,950 15,620 18,700 24,420 27,500
AR=% i3l JAL
KBr=HEJII JAL
NSRS JAL 4,950 4,950 17,600 20,790
PNUEEF JAL 4,950 4,950 17,600 20,790
KBr==iR JAL 4,950 4,950 17,490 20,680
Kir=1t& JAL 4,950 4,950 15,400 18,590
KiR=fl& JAL 4,950 4,950 13,310 16,500
PN JAL 4,950 4,950 15,510 18,700
KB=1L# JAL 4,950 4,950 13,310 16,500
KiR=#15 JAL 4,950 4,950 12,210 15,400
KER=HAF JAL
KiR=EF JAL 3,410 3,410
KBr=RRi5% JAL 4,950 4,950 12,760 15,070
KER=HE JAL 4,950 4,950 9,900 12,980
RBR=#11 JAL 4,950 4,950 10,120 13,310
KiR=Fi& JAL 4,950 4,950 12,210 15,400
KBR=REA JAL 4,950 4,950 12,210 14,410
KiR=X% JAL 4,950 4,950 10,120 12,210
KIR=E & JAL 4,950 4,950 12,210 15,400
KiR=ERS JAL 4,950 4,950 12,210 15,400
KiR=-12F5 JAL
KR=-BAS JAL 4,950 4,950
RR-EEXE JAL 4,950 4,950 17,490 20,680
A=z 5 JAL
KiR=R1E JTA 4,950 4,950 20,790 23,870
K=& JTA 4,950 4,950 20,790 23,870
fER=FL1% JAL 4,950 4,950 21,890 24970
1ERE=ip#8 (AR ER) JTA 4,950 4,950 13,420 16,610
fEE=1E% JAL 4,950 4,950 20,680 23,760
fERE=lE JAL 4,950 4,950 20,790 23,870
BRE=-HE JAL 4,950 4,950 14,410 18,590
EE-ES JAL 4,950 4,950 12,210 15,400
fER=H JAL 4,950 4,950 11,880 14,410
fER== %0 JAL 4,950 4,950 12,210 15,400
fBRE=-E % JAL 4,950 4,950 10,120 12,430
ER-ERS JAL 4,950 4,950 10,560 13,090
RE-BAS JAL 4,950 4,950
BR-EEXS JAL 4,950 4,950 15,840 18,920
R (IRER) =/ JTA 4,950 4,950 22,440 25,630




i (ARER) =R L JTA 4,950 4,950 16,170 19,360
hHE (RER)-EEKE JAL 4,950 4,950 16,500 17,710
hi#E (FRER) =ik R Y JAL 4,950 4,950

R GRER) =5k JAL/RAC 4,950 4,950

R (RBR) =FE JTA/RAC 4,950 4,950 12,320 15,510

R (R -EE JTA/RAC 4,950 4,950 10,340 12,980
iR (BEFR)=AXKE AL/JTA/RA 4,950 4,950 7,590 8,800
8 (R =5 ME RAC 4,950 4,950
iR (RER) =B RE RAC 4,950 4,950
iR () =L KK RAC 4,950 4,950

EHfE=-RFR JAL 4,400 4,400
HE=fR s JAL 4,950 4,950 7,040 8,360
IL=gER JAL 4,950 4,950 14,630 18,150
BRE-EFS JAL 4,950 4,950 7,260 8,470
BERS=-EAS JAL 4,950 4,950
BRE-ERE JAL 4,950 4,950
BRE-EBEXS JAL 4,950 4,950 13,860 17,050
BRE-EZS JAL 4,950 4,950 16,170 19,690
IR S=ihk B A& JAL 4,950 4,950
BERE=-5H JAL 4,950 4,950
BEXE-ERE JAL 4,400 4,400
BEXE-RBZE JAL 4,950 4,950 7,590 8,910
BEXE=-5H JAL 4,950 4,950
EZ2 B=imk B JAL 4,950 4,950
RiE-EY RAC 4,950 4,950
RiE-5RE RAC 4,950 4,950
EH=-2RME RAC 4,400 4,400




